
FITTING INSTRUCTIONS 
 

PART NUMBER: T2Z017 
 

 

 

 

PROUDLY MANUFACTURING TOWBARS IN AUSTRALIA 

 
 

Hyundai Accent Hatch 3 & 5 Door 6/00 to 05 

Towing Capacity 700 Kg / Ball Load 50 Kg 
Lug # L203 

 
1) Lower exhaust. 

2) Remove bumper clips from underneath. 

3) Fit towbar over exhaust and up to outside of chassis rail. 

4) Fit 4x M12 bolts & washers into side of chassis rail into captive nuts. 

5) Fit M12 bolt, washer & plate through shipping hook and into threaded plate 

on towbar. 

6) Tighten all bolts to torque listing below. 

7) Fit tongue with tongue bolts supplied. 

8) Fit door sticker supplied to door. 

9) Refit exhaust 

10) Refit bumper clips.  
 

 

 

RECOMMENDED ASSEMBLY 

TORQUE LISTING 

           Diameter                Grade 8.8 Bolt 

                  Nm 

                  M6                     9.5 

                  M8   21.7 

                  M10   43.4 

                  M12                   77.3 

                  M16                189.8

  



FITTING INSTRUCTIONS 
 

PART NUMBER: T2Z017 
 

 

 

 

PROUDLY MANUFACTURING TOWBARS IN AUSTRALIA 

 
 

Hyundai Excel Hatch Odd Chassis Rail 1998 to 2000 

Towing Capacity 600 Kg / Ball Load 50 Kg 
Lug # L203 

 
1) Lower exhaust. 

2) Remove bumper clips from underneath. 

3) Fit towbar over exhaust and up to outside of chassis rail on right hand side 

and inside chassis rail on left hand side. 

4) Fit 4x M12 bolts & washers into side of chassis rail into captive nuts. 

5) Fit M12 bolt, washer & plate through shipping hook and into threaded plate 

on towbar. 

6) Tighten all bolts to torque listing below. 

7) Fit tongue with tongue bolts supplied. 

8) Fit door sticker supplied to door. 

9) Refit exhaust 

10) Refit bumper clips.  
 

 

 

RECOMMENDED ASSEMBLY 

TORQUE LISTING 

           Diameter                Grade 8.8 Bolt 

                  Nm 

                  M6                     9.5 

                  M8   21.7 

                  M10   43.4 

                  M12                   77.3 

                  M16                189.8

  



FITTING INSTRUCTIONS 
 

PART NUMBER: T2Z017 
 

 

 

 

PROUDLY MANUFACTURING TOWBARS IN AUSTRALIA 

 
 

Hyundai Excel Sedan 1998 to 2000 

Towing Capacity 600 Kg / Ball Load 50 Kg 
Lug # L231 

 
1) Lower exhaust. 

2) Remove bumper clips from underneath. 

3) Fit towbar over exhaust and up to outside of chassis rail. 

4) Fit 4x M12 bolts & washers into side of chassis rail into captive nuts. 

5) Fit M12 bolt, washer & plate through shipping hook and into threaded plate 

on towbar. 

6) Tighten all bolts to torque listing below. 

7) Fit tongue with tongue bolts supplied. 

8) Fit door sticker supplied to door. 

9) Refit exhaust 

10) Refit bumper clips.  
 

 

 

RECOMMENDED ASSEMBLY 

TORQUE LISTING 

           Diameter                Grade 8.8 Bolt 

                  Nm 

                  M6                     9.5 

                  M8   21.7 

                  M10   43.4 

                  M12                   77.3 

                  M16                189.8

  


	T2Z017 Hyundai Accent Hatch
	T2Z017 Hyundai Excel Hatch
	T2Z017 Hyundai Excel Sedan

